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M FHERZE 2 - 2 - - - - - - -
100 - 100 - - - - - - -
B - - - - - - - - - -
mEE - - - - - - - - - -

%-1-72




M130 —XX&E
M1 B (ERTYT)
i3
B Bl
= =3
%
£ & 419 2
100 0.5
iEE - ®"it 18
100 -
BA® 103 1
100 1
JLBE - & 45 -
100 -
£5Fii) 75 -
100 -
hE - mE 21 -
100 -
- iR (BRBRUMN) 147 -
100 -
ERER 9 -
100 -
|EEE 1 1
100 100
g - iR (BRSBEUS)
=ER 75 -
100 -
EER 12 -
100 -
RIGE 10 -
100 -
REARE 24 -
100 -
b 6 -
100 -
EIEE 11 -
100 -
Pk L 9 -
100 -
E;[EK — —
2
20mHEAUT 85 -
100 -
30mik 84 -
100 -
4 0@ 77 -
100 -
50mi 80 2
100 2.5
6 Ot 56
100 -
7 0mEULE 27 -
100 -
|EEE 10 -
100 -
- FRR
B 24K 182 -
100 -
HifE 20 -30BAUT 67 -
100 -
B 40 -50mit 78 -
100 -
Bt 60mALULE 29 -
100 -
Bt EHRERE 8 -
100 -
ZH &Kk 237 2
100 0.8
M 20 - 30BARLUT 102
100 -
M 40 -50EK 79 2
100 2.5
T 6 0mARLUE 54
100 -
i ERERE 2 -
100 -
4 Il 48 B &5 - -
|EEE - -
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FTEMX BR - AM) x% - FK

b1 # J 7 g =) L B z
A T &% R T 7l bt v E3 [0}
i ;-3 % ~ 1 . N Ed A 1
#% T I # Z bl =
b3 * . I
{r.,? N ®
2z R
N
3
BEE 24 103 96 7 6 2 1 18 17 2 -
100 93.2 6.8 5.8 1.9 1 17.5 16.5 1.9 -
Bit £k 52 47 2 4 1 9 8 1 -
100 90.4 3.8 1.7 1.9 17.3 15.4 1.9 -
Bt 20 30mRLUT 20 17 2 2 - 4 - - -
100 85 10 10 - 20 - - -
Bff 40 -50KK 20 19 - 2 1 2 5 - -
100 95 - 10 5 10 25 - -
B 6 0mALE 10 9 - - - 3 2 1 -
100 90 - - - 30 20 10 -
B FHERE 2 2 - - - - 1 - -
100 100 - - - - 50 - -
it £k 51 49 5 2 1 1 9 9 1 -
100 96. 1 9.8 3.9 2 2 17.6 17.6 2 -
% 20 30BMAUT 27 26 2 2 1 1 5 7 1 -
100 96.3 7.4 7.4 3.7 1 18.5 25.9 3.7 -
Z% 40 508KK 16 15 - - - 2 2 - -
100 93.8 - - - 12.5 12.5 - -
T 6 OmMLLE 8 8 3 - - 2 - - -
100 100 31.5 - - 25 - - -
M FHERE - - - - - - - - -
4 Al 5% B & - - - - - - - - -
K- B (BERBERLUS) 21K 147 8 77 14 3 2 10 9 46 1
100 5.4 52.4 9.5 2 .4 6.8 6.1 31.3 0.7
Bit £k 46 3 17 5 - 1 3 2 18 1
100 6.5 37 10.9 - .2 6.5 4.3 39. 1 2.2
Bif 20 30mKLUT 16 1 5 2 - 2 1 5 1
100 6.3 31.3 12.5 - 12.5 6.3 31.3 6.3
Bff 40 -50KK 21 2 7 2 - 1 1 1 10 -
100 9.5 33.3 9.5 - .8 4.8 4.8 47.6 -
B 6 0mALE 8 - 5 1 - - - 2 -
100 - 62.5 12.5 - - - 25 -
B FHERE 1 - - - - - - 1 -
100 - - - - - - 100 -
it £k 101 5 60 9 3 1 7 7 28 -
100 5 59.4 8.9 3 1 6.9 6.9 21.17 -
% 20 30BMAUT 46 2 25 3 2 1 4 2 15 -
100 4.3 54.3 6.5 4.3 .2 8.7 4.3 32.6 -
Z% 40 508KK 37 2 22 4 1 2 4 9 -
100 5.4 59.5 10.8 2.7 5.4 10.8 24.3 -
ZH 6 0mLLE 18 1 13 2 - 1 1 4 -
100 5.6 72.2 11.1 - 5.6 5.6 22.2 -
M FHERE - - - - - - - - -
4 Al 5% B & - - - - - - - - -
EOZE (FOMT)T) 168 102 55 14 12 1 20 14 16 3
100 60. 7 32.7 8.3 7.1 .6 11.9 8.3 9.5 1.8
EEES 1 - - - - - - - -
100 - - - - - - - -
7 XKERH (2KX5H)
FSA475— (1@EA) 160 94 44 11 8 15 14 15 2
100 58.8 21.5 6.9 5 9.4 8.8 9.4 1.3
JE—4— (2@ML) 245 108 89 23 8 3 32 23 46 2
100 44. 1 36.3 9.4 3.3 .2 13.1 9.4 18.8 0.8
EEES 14 4 6 - 1 1 1 3 3 -
100 28. 6 42.9 - 7.1 1 7.1 21.4 21.4 -
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i3
B Bl
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BE £ 103 1
100 1
B 24K 52 -
100 -
HifE 20-30BAUT 20 -
100 -
B 40 -50mit 20 -
100 -
Bt 60mMALULE 10 -
100 -
Bt EHRERE 2 -
100 -
ZH &K 51 1
100 2
M 20 - 30BARLUT 27 -
100 -
M 40 -50EK 16 1
100 6.3
T 6 0mARLUE 8 -
100 -
i ERERE - -
4 Il 48 B &5 - -
A - iR (BRBRUS) 214K 147 -
100 -
B 24K 46 -
100 -
HifE 20 -30BAUT 16 -
100 -
B 40 -50mt 21 -
100 -
Bt 60mMALULE 8 -
100 -
Bt EHRERE 1 -
100 -
ZH &Kk 101 -
100 -
M 20 - 30BARLUT 46 -
100 -
M 40 -50EK 37 -
100 -
T 6 0mARLUE 18 -
100 -
i ERERE - -
4 Il 48 B &5 - -
EEE (20T 7T) 168 -
100 -
|EEE 1 1
100 100
7 kEEEH (2 X5H)
475 — (1EAB) 160 1
100 0.6
JE—4— (2@UL) 245 1
100 0.4
|EEE 14 -
100 -
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Ml13@ XX\
M1 EfEth (ERTVT)

J % B = 8] L 3 B *
B R i) R 7 J v 9 E3 5
" ES A AN AN A D2 A 7
% = b I = T
| 1
I
Y N 419 22 125 122 3 52 99 64 56 105
100 5.3 29.8 29. 1 3.1 12.4 23.6 15.3 13.4 25.1
dbiEE - B=at 18 1 5 6 1 4 2 3 2 4
100 5.6 27.8 33.3 5.6 22.2 11. 1 16.7 11. 1 22.2
B E 103 7 36 40 - 7 31 18 4 33
100 6.8 35 38.8 - 6.8 30. 1 17.5 3.9 32
JtkE - hif 45 3 16 17 3 4 14 4 1 16
100 6.7 35.6 37.8 6.7 8.9 31.1 8.9 2.2 35.6
BT 75 3 21 21 4 10 28 7 3 19
100 4 28 28 5.3 13.3 37.3 9.3 4 25.3
hE - mE 21 1 5 4 1 7 3 8 4 2
100 4.8 23.8 19 4.8 33.3 14.3 38.1 19 9.5
- i (ERBELSN) 147 7 40 31 4 19 21 22 38 29
100 4.8 27.2 21.1 2.1 12.9 14.3 15 25.9 19.7
ERER 9 - 2 3 - 1 - 2 4 2
100 - 22.2 33.3 - 11.1 - 22.2 44. 4 22.2
EEE 1 - - - - - - - - -
100 - - - - - - - - -
A - iR (BRSEUSN)
BEE 75 3 22 17 2 8 9 17 14 15
100 4 29.3 22.17 2.1 10.7 12 22.7 18.7 20
EBEE 12 1 4 3 - 3 2 2 2 5
100 8.3 33.3 25 - 25 16.7 16.7 16.7 41.7
RIBE 10 1 4 1 - 2 1 1 4 3
100 10 40 10 - 20 10 10 40 30
AR 24 2 8 7 2 3 1 1 9 4
100 8.3 33.3 29.2 8.3 12.5 4.2 4.2 37.5 16.7
AKHE 6 - 1 - - 1 1 3 1
100 - 16.7 - - 16.7 16.7 - 50 16.7
BIFE 11 - 1 3 - 2 - 1 5 -
100 - 9.1 27.3 - 18.2 - 9.1 45.5 -
iR 9 - - - - - 7 - 1
100 - - - - - 71.8 - 11. 1 11.1
mEE - - - - - - - - - -
B2 F#
20 BRUT 85 4 31 29 1 9 17 7 11 26
100 4.7 36.5 34.1 1.2 10. 6 20 8.2 12.9 30.6
30mft 84 5 35 28 1 6 17 7 12 27
100 6 41.7 33.3 1.2 7.1 20.2 8.3 14.3 32.1
4 0mft 77 5 20 22 1 8 24 9 12 20
100 6.5 26 28.6 1.3 10.4 31.2 1.7 15. 6 26
5 0mft 80 1 16 21 3 10 22 16 7 12
100 1.3 20 26.3 3.8 12.5 21.5 20 8.8 15
6 Omft 56 6 15 15 4 16 12 13 9 11
100 10.7 26.8 26.8 7.1 28.6 21.4 23.2 16. 1 19.6
7 0mMALE 27 1 4 3 3 2 3 11 4 3
100 3.7 14.8 11. 1 11.1 7.4 11. 1 40.7 14.8 11.1
EEE 10 - 4 4 - 1 4 1 1 6
100 - 40 40 - 10 40 10 10 60
- FRR
B 24 182 8 54 56 9 13 4 19 24 52
100 4.4 29.7 30.8 4.9 7.1 22.5 10.4 13.2 28.6
Bff 20 -30KALUT 67 5 26 26 1 1 10 4 9 27
100 1.5 38.8 38.8 1.5 1.5 14.9 6 13.4 40.3
B 4050t 78 1 20 19 3 9 22 11 8 16
100 1.3 25.6 24.4 3.8 11.5 28.2 14.1 10.3 20.5
BE 60mARLULE 29 2 6 8 5 3 5 4 6 3
100 6.9 20.7 27.6 17.2 10.3 17.2 13.8 20.7 10.3
B FHERDZ 8 - 2 3 - - 4 - 1 6
100 - 25 37.5 - - 50 - 12.5 75
T 2k 237 14 71 66 4 39 58 45 32 53
100 5.9 30 27.8 1.7 16.5 24.5 19 13.5 22.4
Z% 20 - 30BALUT 102 4 40 31 1 14 24 10 14 26
100 3.9 39.2 30.4 1 13.7 23.5 9.8 13.7 25.5
¥ 40 - 50Eit 79 5 16 24 1 9 24 14 11 16
100 6.3 20.3 30.4 1.3 11.4 30.4 17.7 13.9 20.3
M 6 0mRLULE 54 5 13 10 2 15 10 20 7 11
100 9.3 24.1 18.5 3.7 27.8 18.5 37 13 20.4
T FHEDZ 2 - 2 1 - 1 - 1 - -
100 - 100 50 - 50 - 50 - -
X E:JEE - - - - - - - - - -
mEE - - - - - - - - - -
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z
£ & 419 7 8 9
100 7 .9 2.1
iEE - ®"it 18 1 -
100 .6 -
B®R 103 2 2 2
100 .9 .9 1.9
depeE - iR 45 1 1
100 .2 2.2
£5Fii) 75 1 1 1
100 .3 .3 1.3
hE - mE 21 - 1 -
100 - .8 -
- iR (BRBRUMN) 147 2 3 4
100 .4 2 2.7
ERER 9 1 -
100 1.1 -
|EEE 1 1
100 100
g - iR (BRSBEUS)
=ER 75 1 2 3
100 .3 7 4
EER 12 -
100 -
RIGE 10 -
100 -
REARE 24 1 -
100 .2 -
b 6 -
100 -
EIEE 11 1
100 9.1
ik 9 1 -
100 1.1 -
|EEE - -
2
20mHEAUT 85 1 3 1
100 .2 .5 1.2
30mik 84 2 1
100 .4 1.2
4 0@ 77 2 2
100 .6 2.6
50mi 80 2 2 3
100 .5 .5 3.8
6 Ot 56 1
100 1.8
7 0mEULE 27 2 1 1
100 .4 7 3.7
|EEE 10 -
100 -
- FRR
B 24K 182 4 3 3
100 .2 .6 1.6
HifE 20 -30BAUT 67 1 2 1
100 .5 3 1.5
B 40 -50mit 78 2 1 2
100 .6 .3 2.6
Bt 60mALULE 29 1 -
100 .4 -
Bt EHRERE 8 -
100 -
ZH &Kk 237 3 5 6
100 .3 1 2.5
M 20 - 30BARLUT 102 3 1
100 .9 1
M 40 -50EK 79 2 1 3
100 .5 .3 3.8
ZH 6 0mMALULE 54 1 1 2
100 .9 .9 3.7
i ERERE 2 -
100 -
4 Il 48 B &5 - -
|EEE - -
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B B b= 8] L 3 B 4

B i) R 1] J v 9 E3 5

" ES A AN AN A D2 A 7

% = b I = T

| 1

I
BE 2% 103 7 36 40 - 7 31 18 4 33
100 6.8 35 38.8 - 6.8 30. 1 17.5 3.9 32
B 24 52 4 17 19 - 1 15 10 3 17
100 1.7 32.7 36.5 - 1.9 28.8 19.2 5.8 32.7
Bff 20 -30KALUT 20 2 9 9 - - 3 2 - 8
100 10 45 45 - - 15 10 - 40
B 4050t 20 1 5 5 - - 8 6 1 7
100 5 25 25 - - 40 30 5 35
B 60mRLULE 10 1 3 5 - 1 2 2 2 1
100 10 30 50 - 10 20 20 20 10
B FHERDZ 2 - - - - - 2 - - 1
100 - - - - - 100 - - 50
T 2k 51 3 19 21 - 6 16 8 1 16
100 5.9 37.3 41.2 - 11.8 31.4 15.7 2 31.4
Z 20 - 30BALUT 27 1 12 10 - 3 8 2 1 9
100 3.7 44. 4 37 - 11.1 29.6 7.4 3.7 33.3
LM 40 -50mit 16 1 5 9 - - 6 2 - 5
100 6.3 31.3 56.3 - - 37.5 12.5 - 31.3
M 6 0mRLLE 8 1 2 2 - 3 2 4 - 2
100 12.5 25 25 - 37.5 25 50 - 25

T FHEDZ - - - - - - - - - -

X E:JEE - - - - - - - - - -
A - iR (ERBRLS) 21K 147 7 40 31 4 19 21 22 38 29
100 4.8 27.2 21.1 2.1 12.9 14.3 15 25.9 19.7
B 24 46 1 12 10 3 2 5 4 15 11
100 2.2 26. 1 21.7 6.5 4.3 10.9 8.7 32.6 23.9
Bff 20 -30KALUT 16 1 6 5 - - 1 1 6 6
100 6.3 37.5 31.3 - - 6.3 6.3 37.5 37.5
B 4050t 21 - 4 4 2 1 3 1 6 2
100 - 19 19 9.5 4.8 14.3 4.8 28.6 9.5
B 60mRLULE 8 - 2 1 1 1 1 2 2 2
100 - 25 12.5 12.5 12.5 12.5 25 25 25
B FHERDZ 1 - - - - - - - 1 1
100 - - - - - - - 100 100
T 2k 101 6 28 21 1 17 16 18 23 18
100 5.9 27.17 20.8 1 16.8 15.8 17.8 22.8 17.8
Z% 20 - 30BALUT 46 2 17 8 - 9 7 6 11 8
100 4.3 37 17.4 - 19.6 15.2 13 23.9 17.4
¥ 40 - 50mit 37 2 7 10 - 3 8 6 8 5
100 5.4 18.9 27 - 8.1 21.6 16.2 21.6 13.5
M 6 0mRLLE 18 2 4 3 1 5 1 6 4 5
100 11.1 22.2 16.7 5.6 27.8 5.6 33.3 22.2 27.8

T FHEQDZ - - - - - - - - - -

X E:JEE - - - - - - - - - -
EEZE (ZothT)7) 168 8 49 51 9 26 47 24 14 43
100 4.8 29.2 30.4 5.4 15.5 28 14.3 8.3 25.6

EEE 1 - - - - - - - - -

100 - - - - - - - - -

M7 XEEH 2K%)

FSA475— (1EAB) 160 7 53 58 5 23 4 19 16 62
100 4.4 33.1 36.3 3.1 14.4 25.6 11.9 10 38.8
JE—4— (2@HUL) 245 15 67 59 8 27 57 42 37 4
100 6.1 27.3 24. 1 3.3 11 23.3 17.1 15. 1 16.7
EEE 14 - 5 5 - 2 1 3 3 2
100 - 35.7 35.7 - 14.3 7.1 21.4 21.4 14.3
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FEMX (BFE - AM) xtE - FEK
z 3 i
A 0] L B
" 1t ~ =3
% 3
k5
BE £ 103 2 2 2
100 1.9 .9 1.9
B 24K 52 1 1 -
100 1.9 .9 -
HifE 20-30BAUT 20 - 1 -
100 - 5 -
B 40 -50mit 20 - -
100 - -
Bt 60mMALULE 10 1 -
100 10 -
Bt EHRERE 2 - -
100 - -
ZH &K 51 1 1 2
100 2 2 3.9
M 20 - 30BARLUT 27 - 1 1
100 - 7 3.7
M 40 -50EK 16 1 1
100 6.3 6.3
T 6 0mARLUE 8 - -
100 - -
i ERERE - - -
4 Il 48 B &5 - - -
A - iR (BRBRUS) 214K 147 2 3 4
100 1.4 2 2.7
B 24K 46 1 1 2
100 2.2 .2 4.3
HifE 20 -30BAUT 16 1 1 -
100 6.3 .3 -
B 40 -50mt 21 - 2
100 - 9.5
Bt 60mMALULE 8 - -
100 - -
Bt EHRERE 1 - -
100 - -
ZH &Kk 101 1 2 2
100 1 2 2
M 20 - 30BARLUT 46 - 2 -
100 - .3 -
M 40 -50EK 37 1 1
100 2.7 2.7
T 6 0mARLUE 18 - 1
100 - 5.6
i ERERE - - -
4 Il 48 B &5 - - -
EEE (20T 7T) 168 3 3 2
100 1.8 .8 1.2
|EEE 1 - 1
100 - 100
7 kEEEH (2 X5H)
475 — (1EAB) 160 2 3 3
100 1.3 .9 1.9
JE—4— (2@UL) 245 5 5 5
100 2 2 2
|EEE 14 - 1
100 - 7.1
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1 FEE# (BRTVT)

— — — — — — ~

B AR AR AR AR =R B RN =R

= =4 =4 =4 =4 =4 =4 4

* 2l &2l 3| &l 2| z| =

bl A E B 15 0] it

g2 &2 & B 8 f =
£ K 297 3, 700 10, 900 5,300 7, 800 700 100 28,500
i - R 11 2,000 9,400 6, 700 8, 600 600 0 27, 300
BEE 66 4,100 12,000 6, 000 8, 800 400 100 31, 400
dbBE - FER 39 3, 900 9,400 4,800 5, 800 700 0 24,600
B 50 4,800 10, 000 4,500 6, 700 600 100 26, 700
fiE - mE 14 1,400 13, 900 7,200 11,000 1,700 700 35, 900
R - R (BERER L) 108 3, 200 11, 300 5,200 7, 800 700 0 28,200
ERER 8 1,400 6, 400 3, 900 9,100 100 0 20, 900
% [ & 1 25,000 20, 000 2,500 5,000 0 0 52,500

A - R (BEREE U

1B R 55 3, 500 10, 800 5,000 8, 400 600 0 28, 300
EEE 10 4,800 12,000 4,300 6, 600 1,100 0 28, 800
RIKE 7 3,100 14, 400 13, 700 7,700 600 0 39, 500
N 19 2,900 11, 600 5,100 7,400 1,100 0 28,100
b 4 1,900 6, 000 2,700 6, 200 500 0 17, 300
B IR 10 2,200 12, 400 4,000 7, 800 600 0 27,000
SRR 3 1,200 10, 000 2,400 5,000 300 0 18, 900

MEK — — — — — — — _

2
20FmARUT 69 3, 600 8, 500 4,100 7,000 600 100 23,900
30k 57 2,200 10, 300 4,700 6, 400 600 0 24,200
4 0Ot 60 5,000 10, 000 4,400 8, 000 600 0 28,000
50t 55 4,100 12,900 6, 100 8, 600 600 0 32,300
6 Ot 35 3, 700 13, 500 7,900 9,500 800 400 35, 800
70mLLE 13 3, 400 16, 500 8, 200 8, 600 700 0 37,400
& [ & 8 2,200 9,700 5,900 7, 800 1,200 0 26, 800
- FR5

B 2K 132 3, 300 10, 100 4,800 8, 100 600 100 27,000
B 20-30mAKUT 57 2,500 8, 400 3, 900 6, 600 500 100 22,000
B 40 -50mK 52 4,100 10, 500 4,400 8, 500 600 0 28,100
Bt 6 0mftLltLE 17 3, 500 15, 400 9, 600 11, 800 1,000 300 41, 600
B FHEEZE 6 2,300 7,900 3, 800 7,100 900 0 22,000
ZE 2K 165 4,000 11, 600 5, 800 7, 500 700 100 29,700
ZHE 20 - 30BARUT 69 3, 400 10, 100 4,800 6, 800 700 0 25,800
ZHE 40 - 50K 63 4,900 12,100 5,900 8, 100 600 0 31, 600
ZH 6 0mftLlE 31 3, 600 13, 600 7,100 7, 800 700 300 33,100
T FHEEZE 2 2,000 15, 000 12, 500 10, 000 2,000 0 41,500

T Il £ [ &% - - - - - - - -

& [ & - - - - - - - -
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= =4 =4 =4 =4 =4 =4 4

* 2l &2l 3| &l 2| z| =

bl A E B 15 0] it

g2 &2 & B 8 f =
B®E 21K 66 4,100 12,000 6, 000 8, 800 400 100 31, 400
B 2K 36 4,400 10, 200 5,200 8, 300 400 100 28, 600
B 20-30mAKUT 15 2,700 7,200 3, 300 6, 600 300 300 20, 400
B 40 -50mKE 14 6, 100 10, 700 3, 900 9,100 100 0 29,900
Bt 60mftLlE 6 4,500 16, 400 13, 300 11, 800 1,100 0 47,100
B FHEEZE 1 5,000 10, 000 2,500 2,500 0 0 20, 000
ZE 2K 30 3, 800 14, 300 6, 900 9,400 500 0 34,900
ZHE 20 30BmHRUT 15 4,000 10, 000 7, 300 8, 300 600 0 30, 200
T 40 - 50k 11 3, 200 20, 700 7, 300 10, 600 600 0 42,400
ZH 6 0mftLlE 4 4,800 12, 300 4,600 10, 200 300 0 32,200

T FHEEZE - - - - - - - -

T Il £ [ &% - - - - - - - -
M- R (BERBEUN) 21K 108 3, 200 11, 300 5,200 7, 800 700 0 28,200
B 2K 38 2,700 12,000 4,600 9,200 1,000 0 29,500
B 20-30mAKUT 15 3, 400 10, 200 4,200 7, 600 700 0 26,100
B 4050 17 2,200 13, 100 5,100 10, 400 1, 300 0 32,100
Bt 60mftLlE 5 2,600 14, 800 4,900 9,700 700 0 32,700
B FHEEZE 1 500 7, 500 2,000 10, 000 0 0 20, 000
ZE 2K 70 3, 600 10, 800 5, 600 7,000 600 0 27,600
ZHE 20 - 30BARUT 34 3, 500 11,100 4,500 6, 700 600 0 26, 400
ZH 40 - 50mK 26 3, 800 9,500 6, 900 7,700 600 0 28,500
ZH 6 0mftLlE 10 2,900 13, 500 5,900 6, 500 300 0 29,100

T FHEEZE - - - - - - - -

T Il £ [ &% - - - - - - - -
|EZ (Z0HfT)7) 122 3, 700 10, 000 5,100 7,200 700 100 26, 800
& [ & 1 25,000 20, 000 2,500 5,000 0 0 52,500

7 kERZ#H (2XH)

crSA4T7Z— (1EAB) 113 3,100 9,000 5,100 6, 500 600 0 24,300
JE—%— (2@ELE) 171 4,300 12, 300 5,400 8, 500 700 100 31, 300
& [ & 13 1, 600 9,500 6, 900 9,400 100 0 27,500
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15 REORDF (FHRF)
M1 EfEth (ERTVT)

E 7 IR BES 5id z =
B ¥ L L7 3 0% ) &
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100 69. 6 26. 1 4.3 - -
Z 40 - 508K 37 22 1 4 - - 4.5
100 59.5 29.7 10.8 - -
ZH 6 0mMALULE 18 10 8 - - - 4.6
100 55. 6 44.4 - - -
i ERERE - - - - - - -
4 Il 48 B &5 - - - - - - -
EEE (20T 7T) 168 98 59 7 2 2 - 4.5
100 58.3 35. 1 4.2 1.2 .2 -
EEZE 1 1 - - - - 5
100 100 - - - -
7 kEEEH (2 X5H)
FSA4T75— (1EA) 160 96 54 8 - 1 1 4.6
100 60 33.8 5 - .6 0.6
JE—4— (2@UL) 245 161 1A 9 2 2 4.6
100 65.7 29 3.7 0.8 .8 -
EEZE 14 12 2 - - 4.9
100 85.7 14.3 - - -
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&
ERS 419 194 147 51 2 17 8
100  46.3 351 12.2 0.5 4.1 1.9
dtigE - ®i 18 8 7 2 - 1 -
100 44.4 389 111 - 5.6 -
B=R 103 54 30 13 - 3 3
100  52.4  29.1 12.6 - 2.9 2.9
ke - b 45 13 22 5 - 3 2
100 289 489 111 - 6.7 4.4
& 75 34 29 7 i 4 -
100 45,3 387 9.3 1.3 5.3 -
HE - HE 21 9 1 1 - - -
100 429 524 4.8 - - -
AW - HE (ERSRUN 147 71 45 21 i 6 3
100/ 48.3)  30.6] 14.3 0.7 4.1 2
ERSR 9 4 3 2 - _ -
100 444/ 333 222 - - -
mEE 1 1 - - - - -
100 100 - - - - -
N - iR (BEREE U
BER 75 38 24 9 i 2 i
100 50.7 32 12 1.3 2.7 1.3
EHER 12 7 3 1 - 1 -
100 583 25 8.3 - 8.3 -
ElR 10 5 3 2l - - -
100 50 30 20 - - -
EAR 24 12 6 4 - i i
100 50 25| 16.7 - 4.2 4.2
A5 R 6 i i 3 - i -
100 16.7 16.7 50 - 16.7 -
BT 1 6 3 i - i -
100 545  27.3 9.1 - 9.1 -
R 9 2 5 - - i
100 22,2/ 556  11.1 - - 1.1
REE - - - - - - -
2 &
2 0OmMRUT 85 46 21 il - 5 2
100 54.1 24.7)  12.9 - 5.9 2.4
3omi 84 42 28 9 i 1 3
100 50 33.3  10.7 1.2 1.2 3.6
4o0mi 77 31 24 14 i 4 3
100/  40.3)  31.2]  18.2 1.3 5.2 3.9
5 0 @Mt 80 35 33 9 - 3 -
100 438/  41.3]  11.3 - 3.8 -
6 0 it 56 24 26 5 - 1 -
100 429 46.4 8.9 - 1.8 -
7 OmARBE 27 13 12 2 - - -
100 48.1 44.4 1.4 - - -
mEE 10 3 3 i - 3 -
100 30 30 10 - 30 -
1 - (KAl
BiE &4k 182 70 71 26 - T 4
100 385 39 14.3 - 6 2.2
Eff 20-30WMAUT 67 30 21 8 - 4 4
100 448/  31.3)  11.9 - 6 6
B 40 50K 78 28 33 13 - 4 -
100 359 423  16.7 - 5.1 -
B 6 0mMRLULE 29 9 16 4 - - -
100 31 55.2)  13.8 - - -
Bt FEHEDE 8 3 1 1 - 3 -
100  37.5 25| 12,5 - 37.5 -
xiE &k 237 124 76 25 2 6 4
100 523 32.1 10.5 0.8 2.5 1.7
XM 20 -3 0mMRLT 102 58 28 12 1 2 1
100 56.9] 27.5  11.8 1 2 1
LM 40 50K 79 38 24 10 1 3 3
100  48.1 3.4/ 127 1.3 3.8 3.8
& 6 0OmMRLE 54 28 22 3 - 1 -
100 519  40.7 5.6 - 1.9 -
ZE FHERE 2 - 2 - - - -
100 - 100 - - - -
14 31| 4% B & - - - Z - . -
REE - - - - - - -
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E z ¢ & ¢ x 2 &
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1
&
R =& 103 54 30 13 - 3 3 4.4
100 52.4 29.1 12.6 - 2.9 .9
Bt =& 52 21 20 1 - 1 3 4.3
100 40.4 38.5 13.5 - 1.9 .8
B4 20-30mAUT 20 8 6 3 - - 3 4.3
100 40 30 15 - - 5
B 40 -50mH 20 8 8 3 - 1 - 4.3
100 40 40 15 - 5 -
B 60mHuE 10 3 6 1 - - - 4.2
100 30 60 10 - - -
Bt FHREE 2 2 - - - - - 5
100 100 - - - - -
zE =& 51 33 10 6 - 2 - 4.6
100 64.7 19. 6 11.8 - 3.9 -
X% 20 - 30mAUT 217 18 6 3 - - - 4.6
100 66.7 22.2 11.1 - - -
XM 40 -50mH 16 10 2 2 - 2 - 4.6
100 62.5 12.5 12.5 - 12.5 -
M 6 0mHLUE 8 5 2 1 - - - 4.5
100 62.5 25 12.5 - - -
kit FHREE - - - - - - - -
ERREE - - - - - - -
M- iR (BERERUN) 21K 147 n 45 21 1 6 3 4.3
100 48.3 30. 6 14.3 0.7 4.1 2
Bt =& 46 21 14 1 - 4 4.3
100 45.7 30.4 15.2 - 8.7
BHE 20-30mAUT 16 9 3 1 - 3 4.6
100 56.3 18.8 6.3 - 18.8
B 40 -50mH 21 1 9 4 - 1 4.2
100 33.3 42.9 19 - 4.8
B 60mHuE 8 5 2 1 - - 4.5
100 62.5 25 12.5 - -
Bt FHREE i - - i - - 3
100 - - 100 - -
zE &4 101 50 31 14 1 2 3 4.4
100 49.5 30.7 13.9 1 2 3
X% 20 - 30mAUT 46 25 12 1 1 - 1 4.4
100 54.3 26. 1 15.2 2.2 - .2
XM 40 -50mH 37 17 1 6 - 1 2 4.3
100 45.9 29.7 16.2 - 2.1 .4
M 6 0mHLUE 18 8 8 1 - 1 4.4
100 44.4 44.4 5.6 - 5.6
kit FHREE - - - - - - -
ERREE - - - - - - -
EEE (zoftT Yy 7) 168 68 12 17 1 8 2 4.3
100 40.5 42.9 10.1 0.6 4.8 .2
EEE 1 1 - - - - 5
100 100 - - - -
M7 ¥EEH 2EA)
FSA475— (1EA) 160 70 55 23 1 8 3 4.3
100 43.8 34.4 14.4 0.6 5 .9
JE—%— (2@EKL) 245 116 87 217 1 9 5 4.4
100 47.3 35.5 1 0.4 3.7 2
EEE 14 8 5 1 - - 4.5
100 57.1 35.7 1.1 - -
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#
£ & 419 170 154 73 14 2 6 -
100 40. 6 36.8 17.4 3.3 0.5 .4 -
iEE - ®"it 18 5 8 3 1 1 -
100 27.8 44.4 16.7 5.6 5.6 -
BA® 103 45 27 25 4 - 2 -
100 43.7 26.2 24.3 3.9 - .9 -
depeE - iR 45 15 21 7 - - 2 -
100 33.3 46.7 15.6 - - .4 -
£5Fii) 75 33 29 9 3 1 -
100 44 38.7 12 4 1.3 -
fE - mE 21 8 10 2 1 - -
100 38. 1 47.6 9.5 4.8 - -
- iR (BRBRUMN) 147 59 56 25 5 - 2 -
100 40. 1 38. 1 17 3.4 - .4 -
ERER 9 4 3 2 - - Z
100 44.4 33.3 22.2 - - -
|EEE 1 1 - - - - -
100 100 - - - - -
g - iR (BRSBEUS)
=ER 75 29 217 14 4 - 1 -
100 38.7 36 18.7 5.3 - .3 -
EER 12 4 5 3 - - -
100 33.3 4.7 25 - - -
RIGE 10 6 2 2 - - -
100 60 20 20 - - -
REARE 24 10 12 1 - - 1 -
100 4.7 50 4.2 - - .2 -
b 6 2 3 - 1 - -
100 33.3 50 - 16.7 - -
EIEE 11 5 3 3 - - -
100 45.5 27.3 27.3 - -
ik 9 3 4 2 - -
100 33.3 44.4 22.2 - -
|EEE - - - - - -
Rl2 4F#
20/mHKEUT 85 45 25 1 2 1 1
100 52.9 29.4 12.9 2.4 1.2 .2
30mMK 84 31 33 15 5 -
100 36.9 39.3 17.9 6 -
4 0@ 77 27 26 18 3 1 2
100 35. 1 33.8 23.4 3.9 1.3 .6
50K 80 31 33 16 - -
100 38.8 41.3 20 - -
6 Ot 56 20 22 9 3 - 2
100 35.7 39.3 16. 1 5.4 - .6
7 0mEULE 27 12 1 3 - - 1
100 44.4 40.7 11.1 - - 7
|EEE 10 4 4 1 1 -
100 40 40 10 10 -
- FRR
B 24K 182 69 68 34 7 1 3
100 37.9 37.4 18.7 3.8 0.5 .6
B 20 30mKUT 67 31 24 7 3 1 1
100 46.3 35.8 10. 4 4.5 1.5 .5
B 40 -50mit 78 26 32 19 1 -
100 33.3 41 24.4 1.3 -
Bt 60mALULE 29 8 10 7 2 - 2
100 27.6 34.5 24.1 6.9 - .9
Bt EHRERE 8 4 2 1 1 -
100 50 25 12.5 12.5 -
ZH &Kk 237 101 86 39 7 1 3
100 42.6 36.3 16.5 3 0.4 .3
Z 20 - 30mKUT 102 45 34 19 4 -
100 44.1 33.3 18.6 3.9 -
Z 40 - 508K 79 32 27 15 2 1 2
100 40.5 34.2 19 2.5 1.3 .5
ZH 6 0mMALULE 54 24 23 5 1 - 1
100 44.4 42.6 9.3 1.9 - .9
i ERERE 2 - 2 - - -
100 - 100 - - -
4 Il 48 B &5 - _ _ Z - =
|EEE - - - _ - Z
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BE £ 103 45 27 25 4 - 2 - 4.1
100 43.7 26.2 24.3 3.9 - 1.9 -
B 24K 52 21 15 12 2 - 2 - 4.1
100 40.4 28.8 23.1 3.8 - 3.8 -
B 20 30mRUT 20 9 7 2 2 - - - 4.2
100 45 35 10 0 - - -
B 40 -50mit 20 7 6 7 - - - - 4
100 35 30 35 - - - -
Bt 60mMALULE 10 3 2 3 - - 2 - 4
100 30 20 30 - - 20 -
Bt EHRERE 2 2 - - - - - - 5
100 100 - - - - - -
ZH &K 51 24 12 13 2 - - - 4.1
100 47.1 23.5 25.5 3.9 - - -
Zh 20 - 30mKUT 27 10 8 8 1 - - - 4
100 37 29.6 29.6 3.7 - - -
Z 40 - 508K 16 9 2 4 1 - - - 4.2
100 56.3 12.5 25 6.3 - - -
ZH 6 0mMALULE 8 5 2 1 - - - - 4.5
100 62.5 25 12.5 - - - -
i ERERE - - - - - - - - -
4 Il 48 B &5 - - - - - - - -
A - iR (BRBRUS) 214K 147 59 56 25 5 - 2 - 4.2
100 40. 1 38. 1 17 3.4 - 1.4 -
B £ 46 21 14 8 3 - - - 42
100 45.7 30.4 17.4 6.5 - - -
B 20 30mRUT 16 10 5 1 - - - - 4.6
100 62.5 31.3 6.3 - - - -
Bt 40 508K 21 6 7 7 1 - - - 3.9
100 28.6 33.3 33.3 4.8 - - -
Bt 60mMALULE 8 5 2 - 1 - - - 4.4
100 62.5 25 - 12.5 - - -
Bt EHRERE 1 - - - 1 - - - 2
100 - - - 100 - - -
ZH &Kk 101 38 42 17 2 - 2 - 4.2
100 37.6 41.6 16.8 2 - 2 -
Z 20 - 30mIKUT 46 18 18 9 1 - - - 4.2
100 39. 1 39. 1 19.6 2.2 - - -
Z 40 - 508K 37 13 16 6 1 - 1 - 4.1
100 35. 1 43.2 16. 2 2.7 - 2.7 -
ZH 6 0mMALULE 18 7 8 2 - - 1 - 4.3
100 38.9 44.4 11.1 - - 5.6 -
i ERERE - - - - - - - - -
4 Il 48 B &5 - - - - - - - - -
EEE (20T 7T) 168 65 1A 23 5 2 - 4.2
100 38.7 42.3 13.7 3 1. 1.2 -
EEZE 1 1 - - - - - - 5
100 100 - - - - - -
7 kEEEH (2 X5H)
FSA4T75— (1EA) 160 67 60 23 5 3 - 4.2
100 41.9 37.5 14. 4 3.1 1. 1.9 -
JE—4— (2@UL) 245 95 88 50 9 - 3 - 4.1
100 38.8 35.9 20.4 3.7 - 1.2 -
EEZE 14 8 6 - - - - - 4.6
100 57.1 42.9 - - - - -
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£ & 419 170 163 72 10 1 2 1
100 40. 6 38.9 17.2 2.4 0.2 0.5 0.2
iEE - ®"it 18 4 9 5 -
100 22.2 50 27.8 - - - -
BA® 103 45 31 22 3 - 1 1
100 43.7 30. 1 21.4 2.9 - 1 1
depeE - iR 45 17 21 6 1 - - -
100 37.8 46.7 13.3 2.2 - - -
£5Fii) 75 31 33 9 1 1 - -
100 41.3 44 12 1.3 1.3 - -
fE - mE 21 7 1 1 1 - 1 -
100 33.3 52.4 4.8 4.8 - 4.8 -
- iR (BRBRUMN) 147 63 53 28 3 - - -
100 42.9 36. 1 19 2 - - -
ERER 9 2 5 1 1 - - -
100 22.2 55. 6 11.1 1.1 - - -
|EEE 1 1 - - - - - -
100 100 - - - - - -
g - iR (BRSBEUS)
=ER 75 33 22 17 3 - - -
100 44 29.3 22.17 4 - - -
EER 12 3 7 2 - - - -
100 25 58.3 16.7 - - - -
RIGE 10 5 2 3 - - - -
100 50 20 30 - - - -
REARE 24 1 11 2 - - - -
100 45.8 45.8 8.3 - - - -
b 6 3 2 1 - - - -
100 50 33.3 16.7 - - - -
EIEE 11 6 4 1 - - - -
100 54.5 36.4 9.1 - - - -
ik 9 2 5 2 - - - -
100 22.2 55. 6 22.2 - - - -
|EEE - - - - - - - -
Rl2 4F#
20/mHKEUT 85 43 28 10 3 - 1 -
100 50. 6 32.9 11.8 3.5 - 1.2 -
30mMK 84 32 29 15 6 - 1 1
100 38. 1 34.5 17.9 7.1 - 1.2 1.2
4 0@ 77 31 31 14 - 1 - -
100 40.3 40.3 18.2 - 1.3 - -
50K 80 29 33 17 1 - - -
100 36.3 41.3 21.3 1.3 - - -
6 Ot 56 21 25 10 - - - -
100 37.5 44.6 17.9 - - - -
7 0mEULE 27 10 12 5 - - - -
100 37 44.4 18.5 - - - -
|EEE 10 4 5 1 - - - -
100 40 50 10 - - - -
- FRR
B 24K 182 66 76 32 6 - 1 1
100 36.3 41.8 17.6 3.3 - 0.5 0.5
B 20 30mKUT 67 26 28 6 5 - 1 1
100 38.8 41.8 9 1.5 - 1.5 1.5
B 40 -50mit 78 217 32 18 1 - - -
100 34.6 41 23.1 1.3 - - -
Bt 60mALULE 29 9 13 7 - - - -
100 31 44.8 24.1 - - - -
Bt EHRERE 8 4 3 1 - _ - .
100 50 37.5 12.5 - - - -
ZH &Kk 237 104 87 40 4 1 1 -
100 43.9 36.7 16.9 1.7 0.4 0.4 -
Z 20 - 30mKUT 102 49 29 19 4 1 -
100 48 28.4 18.6 3.9 - 1 -
Z 40 - 508K 79 33 32 13 - 1 - -
100 41.8 40.5 16.5 - 1.3 - -
ZH 6 0mMALULE 54 22 24 8 - - - -
100 40.7 44.4 14.8 - - - -
i ERERE 2 - 2 - - - - -
100 - 100 - - - - -
4 Il 48 B &5 - - - - - - - -
|EEE - - - - - - - -

%-1-96




16 CEREBKICHT HTME (BEFHEOAFLPLTI)
FTEMX BR - AM) x% - FK

X » E » X & i
B % * & » = £ Bl
= i P} = = LAY % B
% 2 2 b b L
#
BE £ 103 45 31 22 3 - 1 1 4.2
100 43.7 30. 1 21.4 .9 - 1 1
B 24K 52 19 17 12 2 - 1 1 4.1
100 36.5 32.7 23.1 .8 - 1.9 1.9
B 20 30mRUT 20 6 7 3 2 - 1 1 3.9
100 30 35 15 0 - 5 5
B 40 -50mit 20 8 6 6 - - - 4.1
100 40 30 30 - - -
Bt 60mMALULE 10 3 4 3 - - - 4
100 30 40 30 - - -
Bt EHRERE 2 2 - - - - - 5
100 100 - - - - -
ZH &K 51 26 14 10 1 - - - 4.3
100 51 21.5 19.6 2 - - -
Zh 20 - 30mKUT 27 12 8 6 1 - - - 4.1
100 44.4 29.6 22.2 7 - - -
Z 40 - 508K 16 9 5 2 - - - 4.4
100 56.3 31.3 12.5 - - -
ZH 6 0mMALULE 8 5 1 2 - - - 4.4
100 62.5 12.5 25 - - -
i ERERE - - - - - - - -
4 Il 48 B &5 - - - - - - -
A - iR (BRBRUS) 214K 147 63 53 28 3 - - - 4.2
100 42.9 36. 1 19 2 - - -
B 24K 46 20 17 8 1 - - - 4.2
100 43.5 37 17.4 .2 - - -
HifE 20 -30BAUT 16 9 7 - - - - 4.6
100 56.3 43.8 - - - -
Bt 40 508K 21 6 7 7 1 - - - 3.9
100 28.6 33.3 33.3 .8 - - -
Bt 60mMALULE 8 5 2 1 - - - 4.5
100 62.5 25 12.5 - - -
Bt EHRERE 1 - 1 - - - - 4
100 - 100 - - - -
ZH &Kk 101 43 36 20 2 - - - 4.2
100 42.6 35.6 19.8 2 - - -
Z 20 - 30mIKUT 46 21 13 10 2 - - - 4.2
100 45.7 28.3 21.7 .3 - - -
Z 40 - 508K 37 16 12 9 - - - 4.2
100 43.2 32.4 24.3 - - -
ZH 6 0mMALULE 18 6 1 1 - - - 4.3
100 33.3 61.1 5.6 - - -
i ERERE - - - - - - - -
4 Il 48 B &5 - - - - - - - -
EEE (20T 7T) 168 61 79 22 4 1 1 - 4.2
100 36.3 47 13.1 .4 0.6 0.6 -
|EEE 1 1 - - - 5
100 100 - - - - -
7 kEEEH (2 X5H)
FSA4T75— (1EA) 160 68 56 28 4 1 2 1 4.2
100 42.5 35 17.5 .5 0.6 1.3 0.6
JE—4— (2@UL) 245 94 101 44 6 - 4.2
100 38.4 41.2 18 .4 - - -
EEZE 14 8 6 - - - - 4.6
100 57.1 42.9 - - - -
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£ & 419 230 149 37 1 2
100 54.9 35.6 8.8 0.2 0.5
iEE - ®"it 18 8 7 2 1
100 44.4 38.9 11.1 - 5.6
BA® 103 60 31 11 - 1
100 58.3 30. 1 10.7 - 1
depeE - iR 45 20 22 3 - -
100 44.4 48.9 6.7 - -
£5Fii) 75 44 25 6 - -
100 58.7 33.3 8 - -
fE - mE 21 9 11 1 - -
100 42.9 52.4 4.8 - -
- iR (BRBRUMN) 147 82 52 13 - -
100 55.8 35.4 8.8 - -
ERER 9 6 1 1 1 -
100 66.7 1.1 11.1 1.1 -
|EEE 1 1 - - - -
100 100 - - - -
g - iR (BRSBEUS)
=ER 75 43 25 7 - -
100 57.3 33.3 9.3 - -
EER 12 6 4 2 - Z
100 50 33.3 16.7 - -
RIGE 10 5 2 3 - -
100 50 20 30 - -
REARE 24 14 10 - - -
100 58.3 4.7 - - -
b 6 3 3 - - -
100 50 50 - - -
EIEE 11 7 4 - - -
100 63.6 36.4 - - -
ik 9 4 4 - -
100 44.4 44.4 11.1 - -
|EEE - - - - - -
Rl2 4F#
20/mHKEUT 85 55 24 5 1 -
100 64.7 28.2 5.9 1.2 -
30mMK 84 45 29 9 - 1
100 53.6 34.5 10.7 - 1.2
4 0@ 77 42 26 9 - -
100 54.5 33.8 11.7 - -
50K 80 42 29 8 - 1
100 52.5 36.3 10 - 1.3
6 Ot 56 23 28 5 - -
100 41.1 50 8.9 - -
7 0mEULE 27 17 9 1 - -
100 63 33.3 3.7 - -
|EEE 10 6 4 - - -
100 60 40 - - -
- FRR
B 24K 182 91 72 17 1 1
100 50 39.6 9.3 0.5 0.5
B 20 30mKUT 67 34 26 5 1 1
100 50.7 38.8 1.5 1.5 1.5
B 40 -50mit 78 40 30 8 - -
100 51.3 38.5 10.3 - -
Bt 60mALULE 29 12 13 4 - -
100 41.4 44.8 13.8 - -
Bt EHRERE 8 5 3 - - -
100 62.5 37.5 - - -
ZH &Kk 237 139 77 20 - 1
100 58.6 32.5 8.4 - 0.4
Z 20 - 30mKUT 102 66 27 9 - -
100 64.7 26.5 8.8 - -
Z 40 - 508K 79 44 25 9 - 1
100 55.7 31.6 11.4 - 1.3
ZH 6 0mMALULE 54 28 24 2 - -
100 51.9 44.4 3.7 - -
i ERERE 2 1 1 - - -
100 50 50 - - -
4 Il 48 B &5 - _ - Z - -
|EEE - - - - - -
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R =& 103 60 31 1 - 1 4.5
100 58.3 30. 1 10.7 - 1
Bt =& 52 28 17 6 - 1 4.4
100 53.8 32.7 11.5 - 1.9
B4 20-30mAUT 20 9 8 2 - 1 4.4
100 45 40 10 - 5
B 40 -50mH 20 1 6 3 - - 4.4
100 55 30 15 - -
B 60mHuE 10 6 3 1 - - 4.5
100 60 30 10 - -
Bt FHREE 2 2 - - - - 5
100 100 - - - -
zE =& 51 32 14 5 - - 4.5
100 62.7 27.5 9.8 - -
X% 20 - 30mAUT 217 16 8 3 - - 4.5
100 59.3 29.6 11.1 - -
XM 40 -50mH 16 1 4 1 - - 4.6
100 68.8 25 6.3 - -
M 6 0mHLUE 8 5 2 1 - - 4.5
100 62.5 25 12.5 - -
kit FHREE - - - - - - -
ERREE - - - - - - -
M- iR (BERERUN) 21K 147 82 52 13 - - - - 4.5
100 55.8 35.4 8.8 - - - -
Bt =& 46 26 19 1 - - - - 4.5
100 56.5 41.3 2.2 - - - -
BHE 20-30mAUT 16 1 5 - - - - - 4.7
100 68.8 31.3 - - - - -
B 40 -50mH 21 10 10 1 - - - - 4.4
100 47.6 47.6 4.8 - - - -
B 60mHuE 8 5 3 - - - - 4.6
100 62.5 37.5 - - - - -
Bt FHREE i - i - - - - - 4
100 - 100 - - - - -
zE &4 101 56 33 12 - - - - 4.4
100 55.4 32.7 11.9 - - - -
X% 20 - 30mAUT 46 217 14 5 - - - - 4.5
100 58.7 30.4 10.9 - - - -
XM 40 -50mH 37 21 9 1 - - - - 4.4
100 56.8 24.3 18.9 - - - -
M 6 0mHLUE 18 8 10 - - - - - 4.4
100 44.4 55.6 - - - - -
kit FHREE - - - - - - - - -
ERREE - - - - - - - - -
EEE (zoftT Yy 7) 168 87 66 13 1 - - 1 4.4
100 51.8 39.3 1.1 0.6 - - 0.6
EEE 1 1 - - - - 5
100 100 - - - - - -
M7 ¥EEH 2EA)
FSA475— (1EA) 160 87 58 13 - - - 2 4.5
100 54.4 36.3 8.1 - - - 1.3
JE—%— (2@EKL) 245 132 88 24 1 - - - 4.4
100 53.9 35.9 9.8 0.4 - - 